

Q.1
Exp. Evaluate $\lim_{x \rightarrow 0} x \log x$

Sol. This is of the form $0 \times \infty$ when $x \rightarrow 0$

$$\therefore \text{The given limit} = \lim_{x \rightarrow 0} \frac{\log x}{\frac{1}{x}}$$

Using L. Hospital rule.

$$= \lim_{x \rightarrow 0} \frac{1/x}{-1/x^2}$$

$$= \lim_{x \rightarrow 0} -\frac{1/x}{1/x^2}$$

$$= \lim_{x \rightarrow 0} -\frac{x \cdot x}{x} \Rightarrow \lim_{x \rightarrow 0} (-x) = 0$$

$$\therefore \lim_{x \rightarrow 0} x \log x = 0$$

Q.5 Exp. Find limit value of
 $\lim_{x \rightarrow 0} x^m (\log x)^n$

Sol. This is of the form $0 \times \infty$ when limit $x \rightarrow 0$.

$$\therefore \text{The given limit} \lim_{x \rightarrow 0} x^m (\log x)^n = \lim_{x \rightarrow 0} \frac{(\log x)^n}{x^{-m}} \left[\frac{\infty}{\infty} \right]$$

By L. Hospital rule

$$\lim_{x \rightarrow 0} \frac{n (\log x)^{n-1} \cdot \frac{1}{x}}{-m x^{-m-1}} = \lim_{x \rightarrow 0} \frac{n (\log x)^{n-1}}{-m x^{-m}} \left[\frac{\infty}{\infty} \right]$$

Again L. H. rule.

$$= \lim_{x \rightarrow 0} \frac{n(n-1) (\log x)^{n-2} \cdot \frac{1}{x}}{-m \cdot (-m) x^{-m-1}} = \lim_{x \rightarrow 0} \frac{n(n-1) (\log x)^{n-2}}{(-m)^2 \cdot x^{-m}}$$

$$\lim_{x \rightarrow 0} \frac{n(n-1)(\log x)^{h-2}}{(-m)^2 \cdot x^{-m}} \quad \left[\frac{\infty}{\infty} \right]$$

Again by L. Hospital rule applying till n times then numerator and denominator n times

$$= \lim_{x \rightarrow 0} \frac{n(n-1)(n-2) \dots 1}{(-m)^n \cdot x^{-m}}$$

$$= \lim_{x \rightarrow 0} \frac{L_n \cdot x^m}{(-m)^n}$$

$$= \frac{L_n \cdot (0)^m}{(-m)^n} = 0$$

Hence.

$$\lim_{x \rightarrow 0} x^m \cdot (\log x)^h = 0$$